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Question Id : 68634037880 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634037881 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340149601. 1

686340149602. 2

686340149603. 3
686340149604. 4
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Question Number : 2 Question Id : 68634037882 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340149605. 1
686340149606. 2
686340149607 3
686340149608. 4

Question Number : 3 Question Id : 68634037883 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Options :
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Question Number : 4 Question Id : 68634037884 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340149613. 1
686340149614. 2
686340149615. 3
686340149616. 4

Question Number : 5 Question Id : 68634037885 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340149617. 1
686340149618. 2
686340149619. 3
686340149620. 4

Question Id : 68634037880 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634037881 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
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686340149602. 2

686340149603. 3
686340149604. 4
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Question Number : 2 Question Id : 68634037882 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340149605. 1
686340149606. 2
686340149607 3
686340149608. 4

Question Number : 3 Question Id : 68634037883 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 4 Question Id : 68634037884 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340149613. 1
686340149614. 2
686340149615. 3
686340149616. 4

Question Number : 5 Question Id : 68634037885 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340149617. 1
686340149618. 2
686340149619. 3
686340149620. 4

Sub-Section Number : 2
Sub-Section Id : 6863401247
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634037886 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340149621. 1
686340149622. 2

686340149623. 3
686340149624 4

Question Number : 6 Question Id : 68634037886 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Options :

686340149621. 1
686340149622, 2
686340149623. 3
686340149624. 4

Question Number : 7 Question Id : 68634037887 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340149625. 1
686340149626. 2
686340149627. 3
686340149628. 4

Question Number : 7 Question Id : 68634037887 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340149625. 1
686340149626. 2
686340149627. 3
686340149628. 4

Question Number : 8 Question Id : 68634037888 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340149629. 1
686340149630. 2
686340149631. 3
686340149632. 4

Question Number : 8 Question Id : 68634037888 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340149629. 1
686340149630. 2

686340149631. 3
686340149632. 4

Question Number : 9 Question Id : 68634037889 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2. PH-HTd
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Options :

686340149633. 1

686340149634. 2

686340149635. 3
686340149636. 4

Question Number : 9 Question Id : 68634037889 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340149633. 1
686340149634. 2
686340149635. 3
686340149636. 4

Question Number : 10 Question Id : 68634037890 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340149637. 1
686340149638. 2
686340149639. 3
686340149640. 4

Question Number : 10 Question Id : 68634037890 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340149637. 1
686340149638. 2
686340149639. 3
686340149640. 4

Question Number : 11 Question Id : 68634037891 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- [y I -
gfa sx+4y = 83 3R % - 1-]—| el Yl A A

1. 83

[ ]

rip)

o A

3.18
4.4

Options :

686340149641. 1
686340149642. 2
686340149643. 3
686340149644. 4

Question Number : 11 Question Id : 68634037891 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340149641. 1
686340149642. 2
686340149643. 3
686340149644. 4

Question Number : 12 Question Id : 68634037892 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gy go! TYT TaTs 31d B3, forgHT SUTnT 16 H 65 T, 0 1t 3R 4 i o5 I=ft &t GaE & 79= & fog
fopar o godi B

1. 1691
05 I
3. 65 90
4. 45 941
Options :
686340149645. 1
686340149646, 2

686340149647. 3
686340149648. 4
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Question Number : 12 Question Id : 68634037892 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 13 Question Id : 68634037893 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340149649. 1
686340149650. 2
686340149651. 3
686340149652. 4

Question Number : 13 Question Id : 68634037893 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340149649. 1
686340149650. 2
686340149651. 3
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Question Number : 14 Question Id : 68634037894 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340149653. 1
686340149654. 2
686340149655. 3
686340149656. 4

Question Number : 14 Question Id : 68634037894 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340149653. 1
686340149654. 2
686340149655. 3
686340149656. 4

Question Number : 15 Question Id : 68634037895 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340149657. 1
686340149658. 2
686340149659. 3
686340149660. 4

Question Number : 15 Question Id : 68634037895 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340149659. 3
686340149660. 4

Question Number : 16 Question Id : 68634037896 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340149661. 1
686340149662. 2
686340149663. 3
686340149664. 4

Question Number : 16 Question Id : 68634037896 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340149661. 1
686340149662. 2
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Question Number : 17 Question Id : 68634037897 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340149665. 1
686340149666. 2
686340149667. 3
686340149668. 4

Question Number : 17 Question Id : 68634037897 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340149665. 1
686340149666. 2
686340149667. 3
686340149668. 4

Question Number : 18 Question Id : 68634037898 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340149669. 1
686340149670, 2

686340149671. 3
686340149672. 4

Question Number : 18 Question Id : 68634037898 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340149669. 1
686340149670, 2

686340149671. 3
686340149672. 4

Question Number : 19 Question Id : 68634037899 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340149673. 1
686340149674. 2
686340149675. 3
686340149676. 4

Question Number : 19 Question Id : 68634037899 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340149673. 1
686340149674. 2
686340149675. 3
686340149676. 4

Question Number : 20 Question Id : 68634037900 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 20 Question Id : 68634037900 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 21 Question Id : 68634037901 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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| B

Question Number : 21 Question Id : 68634037901 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YR Tfay & g =g O U=rad I &1 S B WU 6 7

1, %54 36

. w96 39
3. 354 40
4. HT=54 48

Options :

686340149681. 1

686340149682, 2

686340149683. 3
686340149684. 4

| )

Question Number : 22 Question Id : 68634037902 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 61 gl 11 ¥ ffeH sife

AT T I
(TS 1) (ﬁw 1 M)
A. DMy Truth . [rrEe s
B. [The Broken Wings 1L [Efcar sl
C. [My Experiments with Truth| 11 [GRISH 9108
D. |[Exam Warriors IV. |94 i
Frafciad fdeedl § I Ugl 3R &1 99 DIl ;

1. A-IV, B-IIL. C-I. D-1II

[ ]

CA-IIL B-ILL C-L D-IV
3. AL B-1IIL C-1. D-IV
4. A-IT. B-IIIL. C-IV. D-1

Options :

686340149685. 1
686340149686. 2
686340149687. 3
686340149688. 4

Question Number : 22 Question Id : 68634037902 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 gl 1 ¥ e Sifo
LSl I 11
(&I &1 ATH) (F'\@T:F BT 9TH)

A DMy Truth . [FrEE T

B. [The Broken Wings 1L [Bfexr i

C. My Experiments with Troth 111, W:ﬂ-_-ITEIE

D. [Exam Warriors IV. = Aigt
FafeRad fameal § 9 et Ior &1 99+ BT :

1. A-TV. B-III. C-1. D-II
2 AL B-11, C-1, D-IV
3. A-IL B-1IL. C-1. D-IV
4. A-IL. B-IIL. C-IV. D-1
Options :
686340149685. 1

686340149686. 2
686340149687. 3



686340149688. 4

Question Number : 23 Question Id : 68634037903 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
URrT: Well # ol sifa= ardl ged! YRdi A B 8 2

1. G2 3o

T2 faea
3. BT 9Y
4, A1 ERT

Options :

686340149689. 1

686340149690. 2

686340149691. 3
686340149692. 4

[ ]

Question Number : 23 Question Id : 68634037903 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Uik Wt o ol Sid- arefl ugdl YRdi o aE 2

1. 4Ld, gur

TR fawa
3. PHTIT GY
4, AT el

Options :

686340149689. 1

686340149690. 2

686340149691. 3
686340149692. 4

[ ]

Question Number : 24 Question Id : 68634037904 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



14 g1 PUF [4U TN & ifi®ys AS E0 ¥ fafed § d gOv 39% BRI RS 94 3

YT A - S0 T e g 87§ gadi €

HROTR : AT G Ul & fdqyd ey gidl &

SWRIFd HYF & 3Taiep 4, 1 U T fddedl & ¥ 9ad Sugad SR &1 949 $iod |
1. ASIRR &I 91 € SR R. A ] 92l e ©

A 3R R &9 9 B, Wi R, A 1 96! 1 76| ©

ATTE AR AT

4 AT APIRTT .

| B

[F5]

Options :

686340149693. 1
686340149694. 2
686340149695. 3
686340149696. 4

Question Number : 24 Question Id : 68634037904 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 & FU R & afipyT oS U H e & T SR SUS SR RFFIH T

YT A ST dedg ea F gsdi 5 |

BRI R : ST T8 Wi § fdegd e g 8

SR T & AP 1, 9 G0 7 fdded] & ¥ 999 SUad SR &1 99 B |
1. A SRR T 9@ § SR R, A D To| TR §

A 3R R T 9@ 8. Wid R, A ©1 981 027 76| ©

AYW S AR SNA ©

4 ANTIE APTIRIAE

| B

Laa

Options :

686340149693. 1
686340149694. 2
686340149695. 3
686340149696. 4

Question Number : 25 Question Id : 68634037905 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



EIE A RIER R
BYF 1 : SIAHES ST ITGN Al AR T50Td I H 1T b= areit It 3% vare & &9 1 o omar

gl

DY I : T BIA P SR [ze IR F9 9t & {9 sigd o1 Auvrgang |

SUIad HUH & 3diep H, 1 iU U fadedl § ¥ e Suged SR &1 997 $IfU |
1, PYTI R SH 9 &

YA AR IS SEd §

3. PUTITT S, AT PUT 11 3T B

| ]

4 PYTI IEA S, AfpTPYT I T ©

Options :

686340149697. 1
686340149698. 2
686340149699. 3
686340149700. 4

Question Number : 25 Question Id : 68634037905 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R sERkRume:

gmm:?ﬁﬁmﬁfaﬂwchﬁ die IR STTE I H 317 e+ arelt It 3R warg & &9 | fon S
[

DY I : T BIA P SR [ze IR F9 9t & {9 sigd o1 Auvrgang |

SUIad HUH & 3diep H, 1 iU U fadedl § ¥ e Suged SR &1 997 $IfU |

1, PYTI R SH 9 &
FYFTIAR I EA 3T §

3. YT IS, AP PYT 11 T ©

| ]

4 PYTI IEA S, AfpTPYT I T ©

Options :

686340149697. 1
686340149698. 2
686340149699. 3
686340149700. 4

Part B: Animal Science
Section Id : 686340746
Section Number : 2
Section type : Online



Mandatory or Optional : Mandatory

Number of Questions : 75

Number of Questions to be attempted : 75

Section Marks : 300

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 6863401248
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634037906 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Indian veterinary research institute is located at

1. Dellu

| ]

. Karnal
3. Izatnagar

4, Mumbati
Options :
686340149701. 1
686340149702. 2
686340149703. 3
686340149704. 4

Question Number : 26 Question Id : 68634037906 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YR gRfafdred SFASU S Tel fud 82
L aﬁ

. BRI

-2

3. gWIddTR

4. OrEg
Options :
686340149701. 1
686340149702. 2
686340149703. 3
686340149704. 4

Question Number : 27 Question Id : 68634037907 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



World's No. 1 egg producer 1s

1. New Hemisphere

| )

. Leghorn
3. English class

4, Rhode Island Red
Options :
686340149705. 1
686340149706. 2
686340149707. 3
686340149708. 4

Question Number : 27 Question Id : 68634037907 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fay o1 9.1 ST IHED B B2

1. L ITTere]

2. TR

3. SRS gl
4. 38 AZasS I8

Options :

686340149705. 1
686340149706. 2
686340149707. 3
686340149708. 4

Question Number : 28 Question Id : 68634037908 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Blue revolution is related to

1. Crops

| ]

. Vegetables

. Fisheries

%]

4. Milk
Options :
686340149709. 1
686340149710. 2
686340149711. 3
686340149712. 4



Question Number : 28 Question Id : 68634037908 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIREAIE] BEEIEEE
1. BHd

Tfeaar

3. "Il

b2

4.9
Options :
686340149709. 1
686340149710. 2
686340149711. 3
686340149712. 4

Question Number : 29 Question Id : 68634037909 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
India's rank in livestock population iz

1.1

| B}

i
3. 1T

4, IV
Options :
686340149713. 1
686340149714. 2
686340149715. 3
686340149716. 4

Question Number : 29 Question Id : 68634037909 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U= SHEEI § URA 31 Ug (3%) 157

1.1

| )

BB
3. 11

4. IV
Options :
686340149713. 1
686340149714. 2
686340149715. 3



686340149716. 4

Question Number : 30 Question Id : 68634037910 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Indian Livestock census is conducted after every

1.2 years

|

.5 years
3,15 years

4, 20 vears
Options :
686340149717. 1
686340149718. 2
686340149719. 3
686340149720. 4

Question Number : 30 Question Id : 68634037910 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR TgIeE &t T0ATL TS ay gyTd &1 oIl 6|

1.2

[ ]
wh

3.15

4.20
Options :
686340149717. 1
686340149718. 2
686340149719. 3
686340149720. 4

Question Number : 31 Question Id : 68634037911 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Disease responsible for huge economic losses to dairy industry every year
18

1. Metritis

-2

. Whlk fever
3. Mastitis
4, Teat block

Options :
686340149721. 1



686340149722. 2
686340149723. 3
686340149724. 4

Question Number : 31 Question Id : 68634037911 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ag I, ol Uiay SUR1 UM Bl U &ifd & fog fodieare
1. TR 9y (Hersie)
2. e B
3. Bfeefed (y=e)

4, U HASGU (Cle-ilD)
Options :
686340149721. 1
686340149722. 2
686340149723. 3
686340149724 4

Question Number : 32 Question Id : 68634037912 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Bird flu is caused by

1. Avian adenovirus

[ ]

. Avian influenza virus
3. Avian poxvirus

4, Avian leucosis virus
Options :
686340149725. 1
686340149726. 2
686340149727. 3
686340149728. 4

Question Number : 32 Question Id : 68634037912 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TS T BT BRU T 87

1. Ufdg geAaay

[

. T SRS aRH
. UfT giay gy

4, UfaT IR aRy
Options :
686340149725 1
686340149726. 2
686340149727. 3
686340149728. 4

L]

Question Number : 33 Question Id : 68634037913 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Commeon clinical manifestation of brucellosis in animals is

1. Chronic debility

| B

. Diarrhoea
3. lameness

4, Abortions
Options :
686340149729. 1
686340149730. 2
686340149731. 3
686340149732. 4

Question Number : 33 Question Id : 68634037913 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

aerait & SRR @ e Aefe s @
1. QRIt GREel (bii-ieb Sfaferc)
2. R (@5
3. TSI
4. farg

Options :

686340149729. 1
686340149730. 2
686340149731. 3
686340149732. 4




Question Number : 34 Question Id : 68634037914 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List T with List IT

LISTI LISTII
(Type) (Breeds)
A ilch I. |Amritmahal
B. [Drought II. |Sahiwal
C. [Dual purpose | IIL [Holstein Freisan)
D [Exotic V. [Deoni

Choose the correct answer from the options given below:

1. A-I. B-IV. C-1II. D-III

|

A-TIL B-III. C-IV. D-III
3. A-II. B-IV. C-1. D-1II

4, A-II. B-1. C-IV, D-III
Options :
686340149733. 1
686340149734. 2
686340149735. 3
686340149736. 4

Question Number : 34 Question Id : 68634037914 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gt 1 D1 gl 11 9 fHaH Sife

G T 1
TP G Exsl
A e L. [35d ded
B [dis &l aral | I [Grelare
C. [eeudssn |0l [giegd harA
D. [faceh V. [ga-
frafaRad fgeeal O 3 98t IR &1 954 S ;

1. A-L. B-IV. C-II. D-III

| )

CA-ITL B-IIIL C-TIV, D-III
3. A-II. B-IV. C-1. D-III

4. A-II. B-I. C-IV. D-III
Options :
686340149733. 1
686340149734. 2
686340149735. 3
686340149736. 4



Question Number : 35 Question Id : 68634037915 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List II

LIST I (Vitamins) |[LIST IT (Deficiency Disease
A |[Vitamin E 1. [Poly Deurtts

B. [Thiamins II. |Crazy chick disease

C. [Riboflavin III. |Penguin like posture

D. [Vitamin D IV |Curled toe paralysis

Choose the correct answer from the options given below:

1. A-IT, B-1. C-IV, D-III
2. A-I. B-IL C-III. D-IV
3. A-IV. B-I11. C-II. D-I

4. A-IV. B-ITI. C-I1. D-IT
Options :
686340149737. 1
686340149738. 2
686340149739. 3
686340149740. 4

Question Number : 35 Question Id : 68634037915 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g 1 1yl 11 9 fHaH Sife

T 1 T 11
e Biare=a I

A [[gerifFE 1 [Oicl SRERY

B. [UiHA 11 [ehil eI 3

C_ REawiaT | 1L [0Fed 1 aXe 31 55

D [geifAp | v [Rfa gy e

fFafiiad fawel ¥ 9 4l Iw o1 997 S -

1. A-II. B-I. C-IV. D-III
2. A-I. B-II. C-III. D-IV
3. A-IV, B-II1, C-II, D-I

4, A-IV, B-11I, C-1. D-II
Options :



686340149737. 1
686340149738. 2
686340149739. 3
686340149740. 4

Question Number : 36 Question Id : 68634037916 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Occurrence of a disease in a community clearly in excess of acceptance is called

A. Sporadic

B. Epidemic

C. Pandemic
D. Endemic

E. Micre demic

Choose the most appropriate answer from the options given below :

1. A only

-2

. B only
3.C & D only

4. A& C only
Options :
686340149741. 1
686340149742. 2
686340149743. 3
686340149744. 4

Question Number : 36 Question Id : 68634037916 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fep il I b1 Ueh WHag | HWidd H1H I 3ifee dwean § urgl \HT 1 dgdld]

A foege (fgaih

B.
c. fayart
D. WIH®
E. OEhleHs

-iter fou e fawedl 7 9 95 SR @1 99 S
1. %dd A

. $ad B

3.%au C 3R D

4. FATAIRC

| ]



Options :

686340149741. 1
686340149742. 2
686340149743. 3
686340149744. 4

Question Number : 37 Question Id : 68634037917 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following discases are transmitted by biting insects?

A. Foot & mouth disease
B. Blue tongue

C. Brucellosis

D. Glanders

E. Rabies

Choose the most appropriate answer from the options given below :

1. B only

{ e

.A & C only
3.D & E only

4, A& B only
Options :
686340149745. 1
686340149746. 2
686340149747. 3
686340149748. 4

Question Number : 37 Question Id : 68634037917 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFafaiRad O 9 food dIG1ival &1 S9RUl 168 il (Sle- did ieh) gRI il
82

A TR SR GE B
B. =l forgt
C. SHAIH
D. Teigd
E. Ydia
4 fou U fasenl o 9§ 98! 3R &1 944 Bifoid:
1. %94 B
2. FATAARC
3. $ad D 3R E

4. HaTAINB
Options :
686340149745. 1
686340149746. 2
686340149747. 3
686340149748. 4

Question Number : 38 Question Id : 68634037918 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : Ranikhet 1s an acute viral disease of poultry.

Statement IT : Virus has zoonotic effect & can cause human death.

In the light of the above statements. choose the mosr appropriate answer from the
options given below:

1. Both Statement I and Statement II are true

-2

. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4. Statement I 1s false but Statement IT is true
Options :
686340149749. 1
686340149750. 2
686340149751. 3
686340149752. 4

Question Number : 38 Question Id : 68634037918 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- a1 P RU MU E:
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TIRI FYUF & A 1, - {U T faped! o ¥ Hgl SR P 997 St
1. PYF I SR I aH T §

HY 1 HR IS 3§

3. PUTITTE, AT DU I T &

[ ]

4. YT I, AP FU I I ©
Options :
686340149749. 1
686340149750. 2
686340149751. 3
686340149752. 4

Question Number : 39 Question Id : 68634037919 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the various feed stuffs according to their moisture content in descending
order,

A. Succulent fodder
B. Silage

C. Haylage

D. Cereals

E. Hay

Choose the correct answer from the options given below :

LA/B.C.DLE

| ]

BoCGDLALVE
F:B 1B A

4 A.B.C.E.D
Options :
686340149753. 1
686340149754. 2
686340149755. 3
686340149756. 4

Question Number : 39 Question Id : 68634037919 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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A. THIET IRT (FRTiC BIsT)
B.

C. YEERT (59)

D. 3T

E. YH1 (®)

IURIad BYF o TS H. A l2u v faeedl § T Ugl 3O &1 90 DI

1LABCDE

-2

B.C.D.A.E
3.E.D.B.C.A

4 A B.C.E.D
Options :
686340149753. 1
686340149754. 2
686340149755. 3
686340149756. 4

Question Number : 40 Question Id : 68634037920 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statement I : Silver revolution is related to Egg/poultry production.
Statement IT : White revolution is related to meat production.

In the light of the above statements. choose the correet answer from the options
given below :

1. Both Statement I and Statement II are true

-2

. Both Statement I and Statement IT are false
3. Statement I is true but Statement I 1= false

4, Statement I 15 false but Statement IT 15 true
Options :
686340149757. 1
686340149758. 2
686340149759. 3
686340149760. 4

Question Number : 40 Question Id : 68634037920 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4. YT I, AP FU I I ©
Options :
686340149757. 1
686340149758. 2
686340149759. 3
686340149760. 4

Question Number : 41 Question Id : 68634037921 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is lebelled as Assertion A and the other is
labelled as Reason R.

Assertion A : Food safety and standards authority of India that regulate the food
safety in India.

Reason R : All meat shops and slaughter houses have got FSSAT license.

In the light of the above statements. choose the most appropriate answer from the
options given below :

1. Both A and R are correct and R is the correct explanation of A

=]

. Both A and R are correct but R is not the correct explanation of A
3. A 1s correct but R is not correct

4. A is not correct but R is correct
Options :
686340149761. 1
686340149762. 2
686340149763. 3
686340149764. 4

Question Number : 41 Question Id : 68634037921 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340149761. 1
686340149762. 2
686340149763. 3
686340149764. 4

—

Question Number : 42 Question Id : 68634037922 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following test 15 used to compare two variance?

1. F-test

|

. Z-test
3, T-test

4. Chi-square test
Options :
686340149765. 1
686340149766. 2
686340149767. 3
686340149768. 4

Question Number : 42 Question Id : 68634037922 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
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1. E-g3femr

. Z-OR18qu

[

3, T-9S1&0

4, 5 IHATIR TRI&TT
Options :
686340149765. 1
686340149766. 2
686340149767. 3
686340149768. 4

Question Number : 43 Question Id : 68634037923 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Sumplest. more rapid & most commonly used basis of selection 1s

1. Pedigree selection

| )

. Progeny selection
3. Individual selection

4. Family testing
Options :
686340149769. 1
686340149770. 2
686340149771. 3
686340149772. 4

Question Number : 43 Question Id : 68634037923 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TG B FEY M, Sl g o 3R Faiid® SugiT § T o arel HHR
g

1. g9ngdt 999

2. Jdfg wiig

3. Jiad® 999

4. gfearfye &g
Options :
686340149769. 1

686340149770. 2
686340149771. 3



686340149772 4

Question Number : 44 Question Id : 68634037924 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The genetic correlation between milk yield & fat vield 1s generally

1. Negative & high

| )

. Negative low
3. Positive & high

4, Positive & low
Options :
686340149773. 1
686340149774. 2
686340149775. 3
686340149776. 4

Question Number : 44 Question Id : 68634037924 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

I 57 1 HHET SR o9 a7 3ol gedsy g
1. BUTHS AR 3=

FHBUTET IR g

[

3. YATHD AR I=

4. YT SR
Options :
686340149773. 1
686340149774. 2
686340149775. 3
686340149776. 4

Question Number : 45 Question Id : 68634037925 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Semen production, milk production & egg production are the example
of

1. Sex-linked characters

b2

. sex-limited characters

T

. sex-influenced characters

4, sex-unliked characters
Options :



686340149777. 1
686340149778. 2
686340149779. 3
686340149780. 4

Question Number : 45 Question Id : 68634037925 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
did IcE. g7 Saa SR Sisl-gded & SEHUES

1. feim-weew wem
2. fefm-Hiferg aaron
3. fefm-guriad wafon
4, Tofmr srgafed aem

Options :

686340149777. 1
686340149778. 2
686340149779. 3
686340149780. 4

Question Number : 46 Question Id : 68634037926 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If AA=10 & aa=0. then which of the following is the example of complete
dominance?

1. Aa=5

2

 Aa=7

L@ %]

.Aa=10

4. Aa=15
Options :
686340149781. 1
686340149782. 2
686340149783. 3
686340149784. 4

Question Number : 46 Question Id : 68634037926 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AfE AA=10 3R aa-0. § T FEARET & 9 P19 91 g0l y41dd] &1 IaT8=01 52
1. Aa=5
2. Aa=7
3. Aa=10

4. Aa=15
Options :
686340149781. 1
686340149782. 2
686340149783. 3
686340149784. 4

Question Number : 47 Question Id : 68634037927 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If arithmetic mean is 20 & standard deviation is 10 then find out coefficient of
variatice.

2

.50
3:25

4. 20
Options :
686340149785. 1
686340149786. 2
686340149787. 3
686340149788. 4

Question Number : 47 Question Id : 68634037927 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e FOFR H199 20 B, SR TS [G9 10 8. A1 UHRUT 0N &1 BT

1.2

[ ]
n
]

4. 20
Options :
686340149785. 1
686340149786. 2
686340149787. 3
686340149788. 4



Question Number : 48 Question Id : 68634037928 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is not a measure of central tendency?

1. Aritlinetic mean

| )

. Median
3. Range

4, Mode
Options :
686340149789. 1
686340149790. 2
686340149791. 3
686340149792. 4

Question Number : 48 Question Id : 68634037928 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafeied & 9 31 $-=ig wgit &1 319 781 52
1. YHTR A
2. HigI®T (Hifsa)
3. TR (390
4, §gOIE (A1)

Options :

686340149789. 1
686340149790. 2
686340149791. 3
686340149792. 4

Question Number : 49 Question Id : 68634037929 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If value of mean deviation is 16. then the value of standard deviation is

| )
]

4, 64
Options :
686340149793. 1
686340149794. 2
686340149795. 3



686340149796. 4

Question Number : 49 Question Id : 68634037929 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ofe a1 fages ¢ft= SfaueE) 16 © 9 o9 fagas &1 A= Bl

1.4

[ ]
(v .s]

3.20

4. 64
Options :
686340149793. 1
686340149794. 2
686340149795. 3
686340149796. 4

Question Number : 50 Question Id : 68634037930 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List II

LIST1I LISTII
{Animal breed) (Peculiar character)
A |Surti I. Pvlixtore of Murrah & Surtd
B. Jamunapan II. Mohair
C. |Angora II1. [Roman nose
D. Mehsana IV |Sickle Shape horn

Choose the correct answer from the options given below:

1. A-IIL B-1I. C-1. D-IV

|

. A-LB-II. C-II1. D-IV
3. A-IV. B-I1I. C-II, D-I

4, A-II. B-IT1, C-IV, D-I
Options :
686340149797. 1
686340149798. 2
686340149799. 3
686340149800. 4

Question Number : 50 Question Id : 68634037930 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-IIL B-11, C-1. D-IV

| )

. A-L B-II. C-III. D-IV
3. A-IV, B-IIIL, C-II, D-I

4. A-I1. B-ITI. C-TIV, D-I
Options :
686340149797. 1
686340149798. 2
686340149799. 3
686340149800. 4

Question Number : 51 Question Id : 68634037931 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The basic mechanism of hereditary transmission is

A. Asexual reproduction

B. Polyploidy

C. Mitotic division

D. Splitting of chromosome
E. Glanders

Choose the most appropriate answer from the options given below :

1.D & E only

[ B

. D only
3.A&B only

4. E only
Options :
686340149801. 1
686340149802. 2
686340149803. 3
686340149804. 4

Question Number : 51 Question Id : 68634037931 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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4. HaUE

Options :

686340149801. 1
686340149802. 2
686340149803. 3
686340149804. 4

Question Number : 52 Question Id : 68634037932 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statement I : There 1% a unidirectional gene flow in closed nucleus breeding
scheme.

Statement II : Inbreeding is less in a closed nucleus breeding scheme.

In the light of the above statements. choose the most appropriate answer from
the options given below :

1. Both Statement I and Statement IT are correct

| S

. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement II is incorrect

4, Statement I is incorrect but Statement IT 1s correct
Options :
686340149805. 1
686340149806. 2
686340149807. 3
686340149808. 4

Question Number : 52 Question Id : 68634037932 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

EIE GGG AR EF
TY 1: T NS Wi gieq1 § U fexig Si9 warg gl el

HYF IT: 65 NS UoT- T T 34+: Yo B Bldl |

SIRI FYUF & A 1, 4 KU Y faped! o ¥ Hgl I P 997 S
1. ®YAT AR G T §
2. BYF I AR I EH 3T ©
3. BUF 1T &, TP FUT 11 3T 7

4. YT I, AP FU I I ©
Options :
686340149805. 1
686340149806. 2
686340149807. 3
686340149808. 4

Question Number : 53 Question Id : 68634037933 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statement I : Heritability in the narrow sense is always less than or equal to he
broad sense heritability.

Statement II ; Heritability in the narrow sense is always greater than the broad
sense heritability.

In the light of the above statements. choose the correct answer from the options
given below :

1. Both Statement I and Statement IT are true

-2

. Both Statement I and Statement IT are false
3. Statement I is true but Statement IT is false

4, Statement I is false but Statement 1T is true
Options :
686340149809. 1
686340149810. 2
686340149811. 3
686340149812. 4

Question Number : 53 Question Id : 68634037933 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340149809. 1
686340149810. 2
686340149811. 3
686340149812. 4

Question Number : 54 Question Id : 68634037934 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two Statemients : One is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A: Arrangement of data in different rows & columns is known as
collection of data.

Reason R: Process of arranging the data in different groups or classes according to
resemblance & similarities 1s known as classification of data.

In the light of the above statements. choose the most appropriate answer from
the options given below:

1. Both A and R are correct, and R 1s the correct explanation of A

-2

. Both A and R are correct. but R is not the correct explanation of A

LN

. A is correct but R is not Correct

4, A 1s not correct but R is Correct
Options :
686340149813. 1
686340149814. 2
686340149815. 3
686340149816. 4

Question Number : 54 Question Id : 68634037934 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Options :

686340149813. 1
686340149814. 2
686340149815. 3
686340149816. 4
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Question Number : 55 Question Id : 68634037935 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A : Association between two variables is known as correlation.

Reason R : Association between dependent & independent variable is known as
repeatability.

In the light of the above statements. choose the most appropriate answer from
the options given below :

1. Both A and R are Correct, and R is the Correct explanation of A

]

. Both A and R are Correct. but R is not the Correct explanation of A
3. A is correct but R is not Correct

4. A iz not correct but R is Correct
Options :
686340149817. 1
686340149818. 2
686340149819. 3
686340149820. 4



Question Number : 55 Question Id : 68634037935 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340149817. 1
686340149818. 2
686340149819. 3
686340149820. 4
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Question Number : 56 Question Id : 68634037936 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the following in ascending chronological order according to the number
of essential amino acids present in them.

A. Human
B. Buffalo
C.Pig

D. Fish

E. Poultry

Choose the correct answer from the options given below:

ILA/B.C,DL,E

| ]

By DL EAA
3IB.CCADE

4 E.D.C.B.A
Options :
686340149821. 1
686340149822. 2
686340149823. 3
686340149824 4



Question Number : 56 Question Id : 68634037936 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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[P 5]

4 E.D.C.B.A
Options :
686340149821. 1
686340149822. 2
686340149823. 3
686340149824. 4

Question Number : 57 Question Id : 68634037937 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Order of moulding in layers (From 1st to last)

A, Head
B. Neck
C. Wings
D. Breas
E. Body

Choose the correct answer from the options given below:

LLABCILE

=

BCDEA
3.D.B.C.E.A

4. A.B.D.E C
Options :
686340149825. 1
686340149826. 2
686340149827. 3



686340149828. 4

Question Number : 57 Question Id : 68634037937 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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.B.C.D.E.A
3D.B.C.E.A

1 A.B.B.E.C
Options :
686340149825. 1
686340149826. 2
686340149827. 3
686340149828. 4

Question Number : 58 Question Id : 68634037938 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
World Egg Day 1s celebrated on

1. Second Friday of September

| )

. Second Friday of October
3. Last Saturday of April

4, Last Saturday of May
Options :
686340149829. 1
686340149830. 2
686340149831.3
686340149832. 4

Question Number : 58 Question Id : 68634037938 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340149829. 1
686340149830. 2
686340149831. 3
686340149832. 4

2

Question Number : 59 Question Id : 68634037939 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Demonstration conducted by an extension worker about a practice in front of the
tarmers is called

1. Result demonstration

-2

. Method demonstration
3. Area Demostation

4. Meetings
Options :
686340149833. 1
686340149834. 2
686340149835.3
686340149836. 4

Question Number : 59 Question Id : 68634037939 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2. Ui eeH (mye feaieym)
3. & yaiH
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Options :

686340149833. 1
686340149834. 2
686340149835. 3



686340149836. 4

Question Number : 60 Question Id : 68634037940 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Most effective as well as most expensive method of extension teaching
13

1. Demonstration

| ]

. Meetings
3. Farm & Home Visit

4. Office call
Options :
686340149837. 1
686340149838. 2
686340149839. 3
686340149840. 4

Question Number : 60 Question Id : 68634037940 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a9 WUE 3R Iad el v e @1 usta gl

1. WeRiF (feieem)
2. 930 (Hifew)
3. BT 3R 78 YHUI
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Options :

686340149837. 1
686340149838. 2
686340149839. 3
686340149840. 4

Question Number : 61 Question Id : 68634037941 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which 1s an example of indirect projection ?

1. Slide projection

|

. Overhead projector

Cad

. Filmstrip projector

4, Opaque projector
Options :



686340149841. 1
686340149842. 2
686340149843. 3
686340149844. 4

Question Number : 61 Question Id : 68634037941 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S0 U W8 YUl [ Uh 3aI8vUl el
1. WSS Haq0

2. aie 8 Uluidey

3. TheaiRey vioiaeR

4, ezl Hioidey
Options :
686340149841, 1
686340149842, 2
686340149843. 3
686340149844. 4

Question Number : 62 Question Id : 68634037942 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The method of selection of a local leader is

1. Sociometric method

| )

. Discussion method
3. Election method

4, Random Selection
Options :
686340149845. 1
686340149846. 2
686340149847. 3
686340149848. 4

Question Number : 62 Question Id : 68634037942 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



R Al & 99 B (A 1 82
1. garSthfae fafy
2. g1e-faare wiafe
3. gra fafe
4, grEfes® 9 iy

Options :

686340149845. 1
686340149846. 2
686340149847. 3
686340149848. 4

Question Number : 63 Question Id : 68634037943 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Tendency of people to consider their own culture as superior to all others is known
as

1. Ethnocentrism

[

. Perception

T

. Fidelity

4, Social taboo
Options :
686340149849. 1
686340149850. 2
686340149851. 3
686340149852. 4

Question Number : 63 Question Id : 68634037943 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ﬁﬁ%amﬂﬁﬁﬁwﬁ%ﬂ@ﬁﬁwﬁw@gmﬁﬁﬁhﬁﬁﬁT
FEd gl

1. Ui crepf=en
2. GBI
3. fayaan
4. TR ey

Options :

686340149849. 1
686340149850. 2
686340149851. 3
686340149852. 4




Question Number : 64 Question Id : 68634037944 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The extension is teaching through

1. Learning by doing & learning by hearing

|

. Learning by doing & seeing in believing
3. Learning by seeing & learning by hearing

4, Learning by self & Learning by doing
Options :
686340149853. 1
686340149854, 2
686340149855. 3
686340149856. 4

Question Number : 64 Question Id : 68634037944 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fRreror & vaR fogd gRIsAT 22
1. P HREAT 3R AP ARG
2. P ORAAT 3R 35 1 fayrg o

3. TR HRGAT SR YD dhEA]

4. W94 REF1R b JRgHl
Options :
686340149853 1
686340149854 2
686340149855. 3
686340149856. 4

Question Number : 65 Question Id : 68634037945 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
A lack between what 15 spoken by speaker & what is received by the audience is
known as

—t

. Fidelity

-2

. Perception
3. Communication Gap
4. Communication channel

Options :
686340149857. 1



686340149858. 2
686340149859. 3
686340149860. 4

Question Number : 65 Question Id : 68634037945 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
aaﬁ%mﬁﬁﬁmaﬁwhmwmmmmﬁﬁaﬂﬂa? SR B
®ed gl

1. Tasgaan (Fgn § s
pRARCAL
3. YarGeidl

4. Ya1g 71"
Options :
686340149857. 1
686340149858. 2
686340149859. 3
686340149860. 4

Question Number : 66 Question Id : 68634037946 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Faithful performance of all the elements of the communication process is known
as

1. Communication Gap

2

. Feedback

fad

. perception

4. Fidelity
Options :
686340149861. 1
686340149862. 2
686340149863. 3
686340149864. 4

Question Number : 66 Question Id : 68634037946 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FAR Ua F 9 gl & AyTaves= @ SIS gl
1. Yd1g gid
2. Wid gy
3. ZIRSIOT

4. faywar
Options :
686340149861. 1
686340149862. 2
686340149863. 3
686340149864. 4

Question Number : 67 Question Id : 68634037947 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is not a principle of Co-operative work?

1. Voluntary association

| B

. Concern for community

Caa

. Equitable division of surplus

4, Autocratic control
Options :
686340149865. 1
686340149866. 2
686340149867. 3
686340149868. 4

Question Number : 67 Question Id : 68634037947 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=4 & O & 91 eIl & RGid W P T8 B
1. WiEE® e

. UG & fou e

3. HERIY BT b W fqureH

4. AR uf e

Options :

686340149865. 1
686340149866. 2
686340149867. 3
686340149868. 4

[ ]



Question Number : 68 Question Id : 68634037948 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
A |Community developmeni 1. |[Two way channel
B. |Co operative I[I. [Homogeneity
C. |Tnbal community IT1. |R.ochdale principles
D. [Extension IV, |Destmnation man

Choose the correct answer from the options given below:

1. A-IIL, B-1I. C-I, D-IV

-J

CA-LB-ILL C-IIL D-IV
3. A-IV. B-I1I. C-I1. D-I

4, A-I1. B-II1. C-IV. D-I
Options :
686340149869. 1
686340149870. 2
686340149871. 3
686340149872. 4

Question Number : 68 Question Id : 68634037948 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e 151 gl 1 8 e Sifo

A1 T 1T
el fderg| L [aiaes ae
TEdIdl I [Fsadan

Hicardl gqad | 111 Riesa g
BRI IV. [cf&rd i

frrafefad faweal & 9 96l TR @1 994 Pifue -

1. A-IIL. B-1II. C-1. D-IV

o[a]w[>

2. A-I. B-1L C-III. D-IV
3. A-IV. B-II1. C-II. D-I

4, A-IL. B-III. C-IV. D-I
Options :
686340149869. 1
686340149870. 2
686340149871. 3
686340149872. 4



Question Number : 69 Question Id : 68634037949 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List T with List IT

gjjﬂg LIST II (Techniques)
A |Spoken I. [Folder
B. [Written II. |[Tape recorder
C. [Projected ITI1. [Film
D [Non projected | IV. [Puppet

Choose the correct answer from the options given below:

1. A-I1. B-I. C-III. D-IV

|

. A-LB-II. C-II1. D-IV
3. A-IL. B-I11. C-1. D-IV

4, A-IV. B-III. C-I1. D-I
Options :
686340149873. 1
686340149874. 2
686340149875. 3
686340149876. 4

Question Number : 69 Question Id : 68634037949 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gt 1 D1 gl 11 9 fHaH Sife

1 T 11
TPR) GEMIED)
A [HAifg® 1. [Bleel
B. [Fifea 1L [CO-Rars
C. [mafad 111 [he
D. |H-T&Td (3H-Ulifdes) | IV, [Hoddcl
frefeiRad faedl ¥ I TEl Itk &1 991 Do :

1. A-IT, B-1. C-III, D-IV

| )

. A-I. B-II. C-III. D-IV
3. A-IL. B-III. C-1. D-IV

4. A-IV, B-II1, C-II. D-I
Options :
686340149873. 1
686340149874. 2
686340149875. 3
686340149876. 4



Question Number : 70 Question Id : 68634037950 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Read the following statements & mark your answers according to the options
given below :

A. News paper 13 a popular medium of communication in rural areas.
B. News paper is the written form of communication.

C. Filin show is an audio visual form of communication.

D. Film show is a popular medium of communication in rural areas.
E. News paper 18 Audio form of conumunication.

Choose the most appropriate answer from the options given below :

1. A& B only

| ]

.B & C only
3.C & D only

4. E & A only
Options :
686340149877. 1
686340149878. 2
686340149879. 3
686340149880. 4

Question Number : 70 Question Id : 68634037950 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafeiad ®ul 1 ufet 3R 30 TR &I+ 5T fawedi | 9 sifeu

A TTH 831 8, IHER U7, 99R &1 U aisy ATEH 8
B. YUER U4, ¥9R &1 U ffgd ureg g

c. fire 91 U9R &1 £90-430 TR |

D. fthe o areior &1 & TOR &1 dieiiy 719 §

E. JOER U3, 99R ST Y URU g |

i< feu U fomedl § & HEl 3k &1 98- Bifelu
1. ®dd A 3B
2. FAAB IR ¢
3. %ad C AR D
4. PAAE AR A
Options :
686340149877, 1

686340149878. 2
686340149879. 3




686340149880. 4

Question Number : 71 Question Id : 68634037951 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Success in rural development project depends upon

A. Regular training of workers

B. Regular contract of workers

C. Amount of subsidy

D. Participation of beneficiaries

E. Without any development of people

Choose the most appropriate answer from the options given below :

1. E only

-2

. A& B only
3.C & D only

4. D only
Options :
686340149881. 1
686340149882. 2
686340149883. 3
686340149884. 4

Question Number : 71 Question Id : 68634037951 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oo faeera ufvdierm &1 g feg 9= Fek wed &2

A, Frdaaiel o1 Faftd afdeo
B. B3 o1 At sey
C. g (Gfewdh ot i

D. Ty} @t gewifiEr

E. SFdl & [ & fa-1

i f4U 770 fadedl § 9 Uel 3 &1 994 $ifoig
1. $AAE
2. PAAANRB
3. %ad ¢ 3R D
4. %Had D
Options :
686340149881. 1

686340149882. 2
686340149883. 3




686340149884. 4

Question Number : 72 Question Id : 68634037952 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statement I : Taboos means "Ought not to do” or that are religiously prohibited.
Statement II : Taboos are extremely strong norms.

In the light of the above statements. choose the most appropriate answer from the
options given below :

1. Both Statement I and Statement II are correct

| B

. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement IT is imncorrect
4, Statement I is incorrect but Statement IT is correct
Options :
686340149885. 1
686340149886. 2

686340149887. 3
686340149888. 4

Question Number : 72 Question Id : 68634037952 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- gl Py U MU E:
SYA L a8 () P13 8, =181 A1 =W a1 & enffier v9 4 it 81
HY I1: o8 & ge@ HHES ¢
SIRI B B AT 1, i fGU T faspedi I T Tgt ST &1 997 S
1. DY ISR I I &
2. BYF 1 AR 1 FT 3T &

3 PYTITU S, i U I 9T &

4. YT I, AP FUT I I ©
Options :
686340149885. 1
686340149886. 2
686340149887. 3
686340149888. 4

Question Number : 73 Question Id : 68634037953 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Arrange the following extension literature in increasing order of their number of
pages.

A, leaflet
B. pamphlet
C. bulletin
D. booklet
E. book

Choose the correct answer from the options given below :
T 4B G IE
2: 10 BLAEE
3B B BA

4 C.D.E.A B
Options :
686340149889. 1
686340149890. 2
686340149891. 3
686340149892. 4

Question Number : 73 Question Id : 68634037953 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frfeTEad TR Sifeed 1 S N1 &1 gedl G & YR TR oaied
DI

A. fasie (geife)
B. Q&I (UTheiT)
C. [dd

D. T3& (Ghac)

E. §&aic
1= fdu U fdeedl O 998 Suged SR &1 99 BT,

1LABCDE

I

Dy BUACE C
3.8 C.D.E A

4. C.D.E.A. B
Options :
686340149889. 1
686340149890. 2
686340149891. 3
686340149892. 4



Question Number : 74 Question Id : 68634037954 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Correct sequence of steps of extension teaching 1s

A. Conviction
B. Interest

C. Desire

D. Action

E. Attention

Choose the correct answer from the options given below :

1A BC IR E

I

EDCBA
3.E.B,C,AD

4. C.D,E.B.A
Options :
686340149893. 1
686340149894. 2
686340149895. 3
686340149896. 4

Question Number : 74 Question Id : 68634037954 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

TR fRI&10T & UG] BT el ShH §
A. YR
B. 34
C. 531
D. 3{feha1
E. M
i< fau e fae el o § & Iugesd S &1 99 DifIu:

1:4; B, C; 1% E

[ ]

E.D.C.B.A
3.E.B.C.A.D

4 CCD.E. B.A
Options :
686340149893. 1
686340149894. 2
686340149895. 3
686340149896. 4



Question Number : 75 Question Id : 68634037955 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statement I : Social change 1s a universal phenomenon.
Statement II : Speed of social change is not uniform.

In the light of the above statements, choose the correct answer from the options
given below :

1. Both Statement I and Statement IT are true

| £

. Both Statement I and Statement IT are false
3. Statement I is true but Statement IT is false

4, Statement I 1s false but Statement IT 1< true
Options :
686340149897. 1
686340149898. 2
686340149899. 3
686340149900. 4

Question Number : 75 Question Id : 68634037955 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y I: JHEIS gad- e a4 s gear gl

YA I1: HITSE 9Rad- &1 1 Ue I3 76l 6|

SIRI B B AT 1, i fGU T faspedi I T Tgt ST &1 997 S
1. DY ISR I I &

YA 1 AR 1 T 3§

3. PUTITT S, AT YT I T ®

| ]

4. YT I, AP FUT I I ©
Options :
686340149897. 1
686340149898. 2
686340149899. 3
686340149900. 4

Question Number : 76 Question Id : 68634037956 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A : Extension education is formal education.
Reason R : Extension education is out of school education.

In the light of the above statements. choose the most appropriate answer from
the options given below :

1. Both A and R are correct and R is the correct explanation of A

-J

. Both A and R are correct but R is not the correct explanation of A
3. A is correct but R is not correct

4, A 1s not correct but R 1s correct
Options :
686340149901. 1
686340149902. 2
686340149903. 3
686340149904. 4

Question Number : 76 Question Id : 68634037956 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
=4 &1 U [T §: U THUSUT (Assertion A) & 39 H [1R9T § ol TR 6D
®RUT (Reason R) & vY 1

iy A: TR e, sioanive fRer g
PR R: TR e faermen § e ot fran g

Wi PUH & aia 5, A U fawedl § 3 gad Sugad S &1 994

A SRRIA TS § IR R. A B ol TRAT T

2. A R R T T8I §. Wb R, A T 68 AR T8l §
AT AGARTA TR

4 AT SIS APTR GBI &

Options :

686340149901. 1
686340149902. 2
686340149903. 3
686340149904. 4

—t

fad

Question Number : 77 Question Id : 68634037957 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A : Brokers & communication agents are known as agent middie men.
Reason R : Wholesalers & retailers agents are known as merchant middlemen.

In the light of the above statements. choose the most appropriate answer from
the options given below :

1. Both A and R are correct and R is the correct explanation of A

| %]

. Both A and R are correct but R is not the correct explanation of A
3. A is correct but R is not correct

4, A 1s not correct but R 1s correct
Options :
686340149905. 1
686340149906. 2
686340149907. 3
686340149908. 4

Question Number : 77 Question Id : 68634037957 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
-4 &1 P [T §: U THUTUT (Assertion A) & 39 H [1R4d § ol TR IHS
®RUT (Reason R) & vY 1

STUTUT A: STl SR SR WidHTEdl o1, 9iaHe aer gy (woie mfsa i)
FeI T el

?R;wmﬁwmﬁﬁmﬁ.mnmwww
i

Wi PUH & aia 5, A U fawedl § 3 gad Sugad S &1 994

A SRRIA TS § IR R. A B ol TRAT T

2. A R R T T8I §. Wb R, A T 68 AR T8l §
AT AGARTA TR

4 AT SIS APTR GBI &

Options :

686340149905. 1
686340149906. 2
686340149907. 3
686340149908. 4

—t

fad



Question Number : 78 Question Id : 68634037958 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Adulteration of milk fat with hydrogenated vegetable oils like Vanaspati 1s
detected by

1. Hansa test

-2

. Benedict test
3. Baudoin test

4, Todine test
Options :
686340149909. 1
686340149910. 2
686340149911. 3
686340149912. 4

Question Number : 78 Question Id : 68634037958 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

& a9 §, Igaia-19d gl aal wdl aeald 9l o fidrae &1 ggaH
fafdr g1 I @it 21

1. §91 TRIe
2. ST TRiem

3. Gialg g0
4, OIS Tt

Options :

686340149909. 1
686340149910. 2
686340149911. 3
686340149912. 4

Question Number : 79 Question Id : 68634037959 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The product obtained by acid coagulation of hot milk & subsequent drainage of
whey 13

1. curd

| ]

. Khoa
3. chhenna

4. Rasogolla
Options :



686340149913. 1
686340149914. 2
686340149915. 3
686340149916. 4

Question Number : 79 Question Id : 68634037959 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TH g Bl 3G YA (STHH) HR 918 T 0g § T & Uishar d
§7 9IS SIS 1 HEaldl 82

1. g8l
2, @l
3. 91

4. IHI[ev
Options :
686340149913. 1
686340149914. 2
686340149915. 3
686340149916. 4

Question Number : 80 Question Id : 68634037960 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Yellow colour in the creamy layer of milk may be caused by

1. Pseudomonas synxantha print

| B

. Pseudomonas syncvanea
3. Pseudomonas synxantha & pseudomonas syncyanea

4, 5, Marcescens
Options :
686340149917. 1
686340149918. 2
686340149919. 3
686340149920. 4

Question Number : 80 Question Id : 68634037960 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Shey S
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1
1
%

4, 79, T
Options :
686340149917. 1
686340149918. 2
686340149919. 3
686340149920. 4

Question Number : 81 Question Id : 68634037961 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Standard milk contains

1. 8.5% Fat & 4.5% SNF

| B}

. 3% Fat & 9% SNF
3, 5% Fat & 8.5% ST

4, 4.5% Fat & 8.5% SNF
Options :
686340149921. 1
686340149922. 2
686340149923. 3
686340149924 4

Question Number : 81 Question Id : 68634037961 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

OH® gy o HGIE

1. 8.5% G4 37X 4.5% SNF

3% TET 311X 9% SNF

I

3. 5% 9T 31X 8.5% SNF

4. 4.5 99T 3 8.5% SNF
Options :
686340149921. 1
686340149922. 2
686340149923. 3
686340149924. 4



Question Number : 82 Question Id : 68634037962 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
More spoilage of eggs 13 caused by

1. Fishy flavor

| o]

. Hay odour

. Bacteria than meld

ad

4. Cabbage - water flavor
Options :
686340149925. 1
686340149926. 2
686340149927. 3
686340149928. 4

Question Number : 82 Question Id : 68634037962 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

sl ¥ e Erdt &1 SR 82
1. HSal & e T
2. YA DI

3. he &l ga-T § Siiar]
4, QAATIHT O i T

Options :

686340149925. 1
686340149926. 2
686340149927. 3
686340149928. 4

Question Number : 83 Question Id : 68634037963 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
An i1deal antimicrobial agent should have

1. Good Oral bio availability

[ ]

. Long shelf life

fad

. Long elimination half-life

4, All of these
Options :
686340149929. 1
686340149930. 2
686340149931. 3



686340149932. 4

Question Number : 83 Question Id : 68634037963 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U 3TER] Uiieian] $R& § & §HT dTieU:
1. 3B AMERIG 91d Suaedl
2. T T oy (@ew TR w)

3. Tt e - oy (URERRELETE W)

4, IIRIRT i
Options :
686340149929. 1
686340149930. 2
686340149931. 3
686340149932. 4

Question Number : 84 Question Id : 68634037964 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following types of meats contain firm & fine muscle fibers?

1. Horse meat

| )

. Fish meat
3. Poultry meat

4, Buffalo meat
Options :
686340149933. 1
686340149934. 2
686340149935. 3
686340149936. 4

Question Number : 84 Question Id : 68634037964 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ol § 4 fea veR & 0 1 T ok i TRia s &
1 98 H o H
Ted H A

| ]

PP B AHGH
4. M H A o

Options :
686340149933. 1

L%}



686340149934. 2
686340149935. 3
686340149936. 4

Question Number : 85 Question Id : 68634037965 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Pashmina is produced from

1. Chegu

| ]

. Changthangi

L%}

. Chegu and changthangi

4, Gaddi
Options :
686340149937. 1
686340149938. 2
686340149939. 3
686340149940. 4

Question Number : 85 Question Id : 68634037965 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ORI 1 FedTeA (e il 82
19779
2. I g
3. B U IR H
4. TR

Options :

686340149937. 1
686340149938. 2
686340149939. 3
686340149940. 4

Question Number : 86 Question Id : 68634037966 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What percentage of milk protein is contributed by Casein?

1.60%

| )

L T0%

3, 80%

4, 90%



Options :

686340149941. 1
686340149942. 2
686340149943. 3
686340149944. 4

Question Number : 86 Question Id : 68634037966 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1= g [da- UI=Id g7 WIEH Wer faar S 82

1. 60%

| )

. 70%
3. 80%

4. 90%
Options :
686340149941. 1
686340149942, 2
686340149943. 3
686340149944. 4

Question Number : 87 Question Id : 68634037967 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HTST pasteurization kills % bacteria.

1. 99.99%

[ ]

. 69.99%
3. 50%

4, 0%
Options :
686340149945. 1
686340149946. 2
686340149947. 3
686340149948. 4

Question Number : 87 Question Id : 68634037967 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HTST U0 § % eI IR ol § |

1. 99.99%

| B

. 69.99%
3. 50%

4. 0%
Options :
686340149945. 1
686340149946. 2
686340149947. 3
686340149948. 4

Question Number : 88 Question Id : 68634037968 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
By-product of cheese 18

A. Buttermilk
B. Lassi

C. Skim milk
D. Buffer oil
E. Whey

Choose the most appropriate answer from the options given below :
1. A. D and E only
2.A&Conly
3.D & C only

4. E only
Options :
686340149949. 1
686340149950. 2
686340149951. 3
686340149952. 4

Question Number : 88 Question Id : 68634037968 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR &1 98-31E 1 o

A BT

B. Tl

C. TS feTan g (FRpH) qu
D. §¢X 3[gd

E. T (%)

=14 feu U fawedl o ¥ Hel ST &1 994 Sife:
1.A.D & E$aq
2. Pad AR C
3.9qUD 3R C
4. HaUE

Options :

686340149949. 1
686340149950. 2
686340149951. 3
686340149952. 4

Question Number : 89 Question Id : 68634037969 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Peak milk yield in dairy cattle 1s

A. 6-8 weeks of lactation
B. 4-6 weeks of lactation
C. 8-12 weeks of lactation
D. 2-4 weeks of lactation
E. 13-14 weeks of lactation

Choose the most appropriate answer from the options given below :
1. Aonly
2.B & Conly
3.D & E only

4. E only
Options :
686340149953. 1
686340149954. 2
686340149955. 3
686340149956. 4

Question Number : 89 Question Id : 68634037969 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ST g3l § gal=l Iara &l e gldl 67

A G HAU & 6-8 Fdle
B. g7 HaU[ & 4-6 TG
C. 3T HaU & §-12 8
D. 3 HaU & 2-4 Y6
E. T HAUI & 13-14 W

=14 feu U fawedl o ¥ Hel ST &1 994 Sife:
1. Pad A
2. %auB R C
3.9qUD 3R E
4. HaUE

Options :

686340149953. 1
686340149954. 2
686340149955. 3
686340149956. 4

Question Number : 90 Question Id : 68634037970 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Arrange the content composition of sweet cream. butter milk in ascending order.

A Ash

B. Lactose
C. Fat

D. Protein
E. Water

Choose the correct answer from the options given below :

LECADDE

-

e B T B
3JADCB.E

4. E.D.C.B.A
Options :
686340149957. 1
686340149958. 2
686340149959. 3
686340149960. 4

Question Number : 90 Question Id : 68634037970 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Hidt oars, S8 U o 91d dwal & 9gdiod &l ARIs! % § Safeud &1 |

A. I (TR (0T
B.

C.a9n

D. UieH

E.Od

=it feu TG faaedl 5 ¥ W61 SR o1 90 DI

1.C.A.D.B.E

[ ]

A B CDE
3.JAD.C.B.E

4. E.D,C.B.A
Options :
686340149957. 1
686340149958. 2
686340149959. 3
686340149960. 4

Question Number : 91 Question Id : 68634037971 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Composition of Dahi prepared from whole milk in descending order.

A, Minerals
B. Fat

C. Lactose
D. Protein
E. Water

Choose the correct answer from the options given below :

LA BCILE

=

E.B,C.D.A
3.C.E.D.A.B

4.D.B.A.C.E
Options :
686340149961. 1
686340149962. 2
686340149963. 3
686340149964. 4

Question Number : 91 Question Id : 68634037971 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



vl ¥ ¥ 381 &9 © odl &1 ged gU H 8 oaiud S|

A G
B. a4l
C. daers
D. HieiH
E. ol

=it feu 1Y faaedl 5 ¥ W8T SR o1 909 DI

1A B.C,IxE

[ ]

HBRC DA
3.C,E.D.A,B

4.D.B.AC.E
Options :
686340149961. 1
686340149962. 2
686340149963. 3
686340149964. 4

Question Number : 92 Question Id : 68634037972 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : Lactose is the least variable component of milk .

Statement IT : While fat 13 the most variable component of milk.

In the light of the above statements. choose the most appropriate answer from the
options given below :

1. Both Statement I and Statement II are correct

I

. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement IT is incorrect

4, Statement I 15 incorrect but Statement II is correct
Options :
686340149965. 1
686340149966. 2
686340149967. 3
686340149968. 4

Question Number : 92 Question Id : 68634037972 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e 3 By Ry E:

HYF I: 37 BT 94 HH IRaa-1g 7@ deeid o |

Y 11 TEd g &1 9ay e gRad-g aa g

SIRIF HUF & 3fdie 5. -4 U 7 [9eedl & § 9gt SR &1 99 S
1. PYF I SR aH T

HYT1 IR 11 SHT 3R ©

3. PUTI T S, AT U I HT ®

[ ]

4. YT I, AP FU I I ©
Options :
686340149965. 1
686340149966. 2
686340149967. 3
686340149968. 4

Question Number : 93 Question Id : 68634037973 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A : Oxytocin reflex is not required m case of goat for letdown.

Reason R : Goats store up 80% of their milk in the cisterns.

In the light of the above statements. choose the most appropriate answer from the
options given below :

1. Both A and R are correct and R 1s the correct explanation of A

-2

. Both A and R are correct but R is not the correct explanation of A

i

. A 15 correct but R is not correct

4, A 1s not correct but R 1s correct
Options :
686340149969. 1
686340149970. 2
686340149971. 3
686340149972. 4

Question Number : 93 Question Id : 68634037973 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=4 &1 U [T §: U THUSUT (Assertion A) & 39 H [1R9T § ol TR 6D
DT (Reason R}%Wﬁ:

AMfUFYT A: TH3 Bl TG (deslaT) & g4 § sffadteifT ufaad o1
a9 dl ol sidl|
HRUTR: TH 307 U FT 80% e  UISRUTFRAT 3 |

SIRITd T & AEi 1, 714 G [deedl ¥ 9 9ad Sugad SO @] 907
BT

A SRR EH HEl € ARR. A 3T G| ARAT &

). A 3R R 981 €. @f R. A &t Gt ars 8 ©
AT AR TS TS

4, AGE TR AP R WET €

Options :

686340149969. 1
686340149970. 2
686340149971. 3
686340149972. 4

—t

fad

Question Number : 94 Question Id : 68634037974 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A : Typical taste of milk is due to Lactose & chloride.

Reason R : Most constant property of milk 1s freezing point.

In the light of the above statements. choose the most appropriate answer from the
options given below :

1. Both A and R are correct and R is the correct explanation of A

I

. Both A and R are correct but R is not the correct explanation of A

LN

. A 15 correct but R is not correct

4, A 15 not correct but R is correct
Options :
686340149973. 1
686340149974. 2
686340149975. 3
686340149976. 4

Question Number : 94 Question Id : 68634037974 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=4 &1 U [T §: U THUSUT (Assertion A) & 39 H [1R9T § ol TR 6D
DT (Reason R}%Wﬁ:

STUTUT A: 37 D [GINY Wie dae o qul FRISs & PRU S ol
BT R: 7 1 Galfe fRR 1o 3ue ffaie fag 2

Wi PUH & aia 5, A U fawedl § 3 gad Sugad S &1 994

A SRRIA TS § IR R. A B ol TRAT T

A SR R GH IE1 §. ST R. A B Tl ARl Tl &
AT AGARTA TR

4 AT SIS APTR GBI &

Options :

686340149973. 1
686340149974. 2
686340149975. 3
686340149976. 4

—t

[ ]

fad

Question Number : 95 Question Id : 68634037975 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIST1 I1ISTII
n Comminution of I Mixing of lur_ing ingre_d.ients with _
"7 meat " |ground meat in a specified proportion
Flasification of I [ncorporation of non meat food items in
" lmeat " [meat product
C. Peat extension IT1. Mixing of different animal teat
D. t?:::clendmg ax IV. Reducing of raw meat in to pieces

Choose the correct answer from the options given below:

1. A-IV. B-III, C-II, D-I

-2

CA-L B-I1L C-IILL D-IV
3. A-IIL B-IV. C-1. D-II

4. A-I. B-IV. C-ITI. D-IT
Options :
686340149977. 1
686340149978. 2
686340149979. 3
686340149980. 4



Question Number : 95 Question Id : 68634037975 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g 1 D1 gl 11 9 fHar Sy

I Tt I

o , U {9219 301d | ®IiH §910
A ?HCW%W‘W L [GUHE S 91y odd gwdl

ol - T FRIsoT

w T AT IcdTal 1 f91 A ard
B. T{HWWWQF U b o1 e e
¢ WT ;W?EHW} 111 (& ugei & 9ig @ Ham
L Fam g amee | [ o i o1 goel A oleas
FafaRad fawedl ¥ I el SR &1 999 BITom :

1. A-IV. B-III. C-II. D-I

-J

CA-L B0 CHIILL D-IV
3. A-IL B-IV. C-1. D-II

4, A-I. B-IV. C-III, D-IT
Options :
686340149977. 1
686340149978. 2
686340149979. 3
686340149980. 4

Question Number : 96 Question Id : 68634037976 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
A |Dahi 1. |Frozen datry product
B. |Ghee II. |Concentrated whole malk product
C. [Khoa IT1. [Pure clarified butter fat
D. |lce cream IV |Indian curd

Choose the correct answer from the options given below:

1. A-IV. B-11I. C-II, D-1

-J

A-L B-IL C-ITL D-IV
3. A-IL. B-III. C-1. D-IV
4, A-III. B-IV. C-I. D-II

Options :
686340149981. 1



686340149982. 2
686340149983. 3
686340149984. 4

Question Number : 96 Question Id : 68634037976 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gl 1 1 gl 1 9 fHar Sife

g1 T I
el

A 1 [w=iifad Sadi 3ae

B. [ 11 [arf=d 9yui g 3ds

C. [@ra 111 [F5 HE1ied Heg odl

D. [ssamE V. [HRdIY gl
fgfeiiRad f[dPedl § 9 95l IR &1 999 Do -

1. A-IV, B-IIL C-1II. D-1
2. A-L. B-IL C-IIL D-IV
3. A-IL B-III. C-1, D-IV

4. A-IIL B-TV. C-1. D-II
Options :
686340149981. 1
686340149982. 2
686340149983. 3
686340149984. 4

Question Number : 97 Question Id : 68634037977 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fixed capital or non-recurring expenditure includes

1. Feeding during lactation period

[ )

. Insurance charges

L¥ %]

. Buildings

4. Labour charges
Options :
686340149985. 1
686340149986. 2
686340149987. 3
686340149988. 4

Question Number : 97 Question Id : 68634037977 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e Yol SR SATad oo T a1 it 82
1. G HaUT 3{af¥ & R &
R

3. HdA

4, Y0 b
Options :

686340149985. 1
686340149986. 2
686340149987. 3
686340149988. 4

-2

Question Number : 98 Question Id : 68634037978 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1s the amount that applicant of the project can spend from his own
resources and it 1s generally 25% of the total cost excluding the cost of land.

1. Margin money

| ]

. Loan money

fad

. Loss of project

4. Profit of project
Options :
686340149989. 1
686340149990. 2
686340149991. 3
686340149992. 4

Question Number : 98 Question Id : 68634037978 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YTl ag AET S off SAE® T rEH! § gRaieH | T $R 9 ¢,
R I8 T YiH & g0 & SifaRad. o od &1 25% 6

IR RIE)

2. BYR (@) A
3. afireT @t g1
4, GRS T ofTH

Options :

686340149989. 1
686340149990. 2
686340149991. 3



686340149992. 4

Question Number : 99 Question Id : 68634037979 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Factors affecting on economic returns of poultry excludes

1. size of flock

[ ]

. Rate of lay

L]

. Cost of inputs

4. Pay back period
Options :
686340149993. 1
686340149994. 2
686340149995. 3
686340149996. 4

Question Number : 99 Question Id : 68634037979 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fape e 1 ofie widwd & guifad & ard dR®1 A
Tffad el

1. U8 BT HFR
2. TS AP R
3. Fawr TG
4, BUETOH! B faiey

Options :

686340149993. 1
686340149994. 2
686340149995. 3
686340149996. 4

Question Number : 100 Question Id : 68634037980 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Working capital in economics of dairy unit does not include

1. Veterinary Aid

| )

. Maintenance of Calves
3. Feeding during dry period

4, Animals & equipments
Options :



686340149997. 1
686340149998. 2
686340149999. 3
686340150000. 4

Question Number : 100 Question Id : 68634037980 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3fee O 30 gopTs o foru srdie Uuil o SRR
1. Ug-Frfed (ae ) geradn
2. §981 DI U
3. {5 3% & SR fEam
4. U] 3R JUBRI

Options :

686340149997. 1
686340149998. 2
686340149999. 3
686340150000. 4



